He is
Answer:

A2

a new shirt at the clothing store.

She was
Answer:

a pair of jeans in the sale.

They have
Answer:

a shopping list for groceries.

| saw him
Answer:

a bag of chips in the snack aisle.

We will be
Answer:

some shoes at the shoe store.

She has been
Answer:

for a dress for the party.

They were
Answer:

for a new phone at the electronics store.

He had
Answer:

a gift card for the bookstore.

| noticed her
Answer:

at the jewelry counter.

We will be
Answer:

a new computer at the tech store.




Answers

He is a new shirt at the clothing store.

Answer: buying

She was a pair of jeans in the sale.

Answer: trying on

They have a shopping list for groceries.

Answer: making

| saw him a bag of chips in the snack aisle.

Answer: grabbing

We will be some shoes at the shoe store.

Answer: shopping for

She has been for a dress for the party.

Answer: looking

They were for a new phone at the electronics store.

Answer: searching

He had a gift card for the bookstore.
Answer: redeemed

| noticed her at the jewelry counter.

Answer: browsing

We will be a new computer at the tech store.

Answer: purchasing



